IYdIDINNN O¥3IYOSIL
JLYONILHODIX YNOWHYD

IVdIDINAW YOIANIS
ZINDZVA YNOWHYD VIONILYOH D

fevzz6 269218

¥2'962'989°81$

1'962°989°81$

L8°812'v8e'1ES

8°899°222'2$

6€°055°951'62%

0}SED |9p [BJOL

86'/2/'090'2$

65'851°€80'Z$

65°851'€80'Z$

£G°988'EVL'vS

05 9¥P'¥25'LS

L0°0¥1'695'2$

ELI2I0S3 ]|

P2 9.6'96% > " ¥2'9/6'86% % ¥2'9/6'86% BARUIARL [edidjungy ejoljogd
€Z'66E'7S6' LS P LIE'66E'LLS 2y LLE'66E LLS G9'9/L'ESE'ELS 80°G95'8€0°L-$ €L 1YE'T6E VLS Sedljqnd seiqQ ap ugladaig
c1'882'9e$ - B Z1'8gz'ocs = Z1'882'9€$ oysuel] ap 02)qnd OIdIAIRS
1'025'6/2'5$ ¥0'¥LE'G65'v$ Y0'vLE'565' VS 02 v68'v.8'6% 6E°8YL°02S'LS 18°Gv.'8ve'8s |B120S OjjoLlesaq
59°/66'L62% €¥'259'29 £'259'2% 80°059'S0E$ £'269'L9$ G9'L66'L62% 021Wou023 ojjouesag
€€LL'9PPS szseL'ovLs gZ'szL'ovLs Z9'86+'/85% §Z'1.0'08% LE°1ZP L0SS ledidiunpy ajuspisaid
1'88v'6v$ = = Zleey'evs = Z1'88'6v% saselixny souebiQ|
BLLLL'Z6S 08'v9r'es 08'vor'z$ 86°G.5'¥6$ 08'¥9¥'z$ 8L'LLL'Z6S oulaju| jonuo) ap ouebig
S'GeL'pLES 6£'029'8% 6€'0,9'8% L6'S0¥'E2ES 6£°0.9'8% 2G'GEL'PLES ojuajwejunie |ap elIE}RIIAS
96'L28'6¥FS ¥0°508'€9% $0°508'€9% 00°229'cLss ¥8'L91'er$ 9L'657'0/PS eunpibay
€'€65'829% /6'085'52E$ 16'085'52¢€$ 0€'vL1'v96% LSvEL'1828 EL6¥0'LL9% Binjedlpuls)
/2 687'8/6% 18 28¥'65% 18'/8¥'658 80°L/6'2€0°'LS 19'815'€92-3 69'G6¥'L0E'LS lediaiunjy ejouspisaid
r-gl=9 S v (z+1=¢ 4 I
SaUoI2INPaY
opvsfagng opebegq opebuaaag OpEOIPOR | Ssuoioeldwy opeqoidy ojdasuosn
woma..mm

U3/\ ‘ol [aejey
ap [euod>MRSUO)

LZoz- gLoz|* %

oRweuniy ‘Hls

0Z0Z 9P 2iqLUBJACU 3p O¢ |B 0Jaue ap | |op

EApelISIUlWLIPpY ugloeayise|)
sosa163 ap o)sendnsaid |ap 0191013[5 [9p 021jIjeuY-OpE)ST
19/ ‘o19n7 |aejey op oididunyy

HIAYNDIS




